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2019
Part-Ii
NCC
(General)
Paper-ii
Full Marks-90
Time-3 Hours

The question are of equal value for any group/half.
The figures in the margin indicate full marks. Candidates
are rbquired to give their answers in their own words
as far as practiable.

1) Answer any two of the following questions :
! 15x2
(f‘;l) Narrate the actual battle of first Panipath and
. give a review of the battle from strategic
1 angle.
(t‘?) Explain the importance of water-ways in coastal
. defence of India. In this context, discuss the
| importance of any two military sea-ports of
" India.
(c) Describe the constribution of the Himalayas in
1 defence of India.
(d) What do you mean by Judging Distance?
. Write an essay on Field Signals.
2) Answer any four of the following questions :
| 10x4
(a) Describe the basic organisation of Armed
- Forces.
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(b) What is map? Describe the types of map?
What are the objectives of map reading?

(c) What is scale? What are the methods of
expressing scale in a map? Describe the
methods briefly.

(d) Give an account of actual battle of Chillianwala
and give your comments on the result of the
battle.

{(e) Analyse the present systems of internal Air-
ways in [ndia and how it assists the Indian Air
Force?

(f) What is the meaning and significance of
military history? Describe the military system
of India since Vedic era.

Answer any four of the following questions :

5x4

(a) Write a short note of Niccolo Machiavelli.

(b) What are the different types of North? Give
definition of any two of them.

{c) Describe the types of fire control orders.

(d) Write a short note on 7.62 mm SLR.

(e) What are the causes of battle of Plassey?
Narrate the battle of Plassey indicating the
strength of the belligerants.

(f) Give an idea on Kargit war (1999).

(g) Draw conventional signs of any two from the
following :

() Temple (i) Bus Stand
(iii) Chimney (iv) Water tank
(v) Fort
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